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Recell: for an rv X, we define the cxlacdc&
volue E(X) er

E(X) = > 2R(X=2).
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Exomple 1.

A Lgcﬁf" c.cu\w (s -(-’l. Pe.& ot | lonis '66-:(.5.
Let X be the rv 'f&aﬂ recercds hous MGy
fl‘fx d dook. N

(G-S Flv& ﬁkc “Prcé)&At{l'l‘Lr mass ‘)(,L.-h.c:ll.zou.

Ths weans - Tl all sible valu=
of ‘ﬁ‘?}@é\- P )
(LY FlucQ E(Xj

Seluvtion.
To say that d fakes © ‘F'ILPS for the
cotn to land tanlk i to Say thadt :
(D) The first -2 Flps (0wl baadds;
(7,) The LH‘ [ands ‘“tails.

Each ovtcome of o s L: FLP has r)roé. t/L) so
P(X=i\= (h)!
50 _ 0O
E(X)= > (pP(X=:¢)

(=1
Q ¢
= > 1 (h) =
2L () N .
vse odlfraw.
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/ﬁﬁz:c_b.h_ﬂrf%ml\&.
Role L (som rde) " for Ak s X oy, Y/
E(x+9)=EX)+E(Y). | (Sum Rol<)

Ih c.ucra.l,/ the ex cc:}cﬁ valoe e'p a souwa (o‘(: any
H % S ) etua..ls the soun of the e:xzaec:@aﬁ
veloes (of these rvs),
E_LGMPle oL
(c..) A -Fc.m dhc (s '{:osﬁc&- Lc:f X ée- 'a.c.
no mbes 'H%* CoOWe=S L. FIWQ E(X)-
(b) 2R foir Hue ore tossef. L=t 7. e
the sown of the nowbers SAc(..-.n;(-e,
fud E(Z).

SOIU'é(OVI o

() E(X)= 1-P(X=1)+ - A X=))+...+6 P(X=E&)
= 1- ?+ 2 Vot ..r b Vo= 1121314+ 546)
= 3.5.

(b) [t 7t be the nowber Shotaing o fle
cB S, Then
L. = ’Z,+Zaf...+Z,26,

P (2 ECL) E(Z )4t E(Z)
= Q6 3.5= 9.

Example 3.
Iw a mh&owll.t shoAflel ok of cands,
hows w\aunf o.&'lmu‘k .(Da.u‘j of canls ouldf




bz eaTa(:b to hove the same .Sui.f?

Solution.
Call the res-dow v«,r\a.()le O b&ﬁeloo\, X.
I‘Q we. define rvs XJ)XZ) )"")XSI é)t{

X g | the (5l (1) cands share o sod
O otherwise

then 51
_X:Vil Xg,-

I
Alse, nole that E.(Xb)'-‘- ‘2/5] (hatever
sut the l:ﬂ cord tsy I& of the mu:ir( 5|
cerdls bove the sawe sl
So

E(X)= jz,, E(X)= 51 'Y= 12

Eyouple 4. Herek o c&a&‘__ﬂo.m;

You dras o car ot readow frow o s'faw@a-roa)
- card eck. Tou win $F o vou dvoww o foce
cord or an oce; {ou los= 43 f Ara.uo
G A -LLijL\ on %,"{C:u (ose. $6 TZOV

oo ?or c [O.
SLOul& Ltbu [')(641 ?

Solg‘btéw‘
Let 10 be the rv of hous mack 15 won
(w‘O‘Por o loss).
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Tf\ovs, in cﬁouaxs/

E(LJ.J': R+ Pluowm ‘%?3 -3 P(Io&:$ 3) -6+ Pllose £¢)

q d 2 _32-Al-12 =
=-13-3°13-6°153=" 3 = "~ /i3

J

"ou,& <,>L€€-C,'£ 'fo lobc, so Yoo sLaquC'I: i)la-l.,.



